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Notes 7.6 — Periodic Graph in Context
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As you ride a Ferris wheel, the height that you are above the ground varies periodically.
Consider the height of the center of the wheel to be the equilibrium point. Suppose the
diameter of a Ferris wheel 42 feet and makes a revolution every 4 minute. At the highest 3
point, a seat on the Ferris wheel is 46 feet above the ground. TN i
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a. What is the lowest height of aseat? . |
L l,5 d C ? *\
b. What is the value of the midline? 5 toe
Y44+ 21 -
c. What is the period of the function? KT N
Y minutes - H4min 2
d. Write a sinusoidal equation to model the height of a seat that was at the equilibrium
point heading upward when the ride began?
Ae - ebSE LT 35
e According to the model, when will the seat reach the highest point for the first time?
Q rn I"v’\ W +‘p S
f. According to the model, what is the height of the seat after 10 minutes?



The paddle wheel of a ship is 11 feet in diameter, revolves once every 12 second when
moving at top speed, and is 2 feet below the water’s surface at its lowest point. Using this
speed and starting from a point at the very top of the wheel, write a model for the height h (in
feet) of the end of the paddle relative to the water’s surface as a function of time t (in

minutes). s i :
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What is the height of the end of the paddle at 18 seconds and 27 second?
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